H = dB(A)

Rk B2 Rl a2

R 5 =% ¥ =4 5 =5
e S O - 0 - ')
4+ 3 7. . . . . 1
oo [T 82 Lo L os oo [ o0 1o
4+ 3 53 54.7 56.2 59.9 59.8 68.5
1020219 ?jﬂ 58.6 82.1 64.4 69.9 67.6 76.9
38 56 59.5 53.4 55.1 54 55.1
102.03.15 %?jﬂ 62.2 77.5 54.7 77.8 59.6 77.7
8 | 495 50.8 45 47.2 54 55
102.04.17 %’i 55.1 75 46.5 63.7 54.4 69.1
3R 50.2 51.2 50 57.8 43.6 45.9
102.05.13 ?fl 55.4 79 52.7 69.5 57.9 78.4
3R 55.1 68.8 57.3 63.8 53.3 55.9
102.06.05 %fl 60.5 83.4 60 84.8 60.5 81.7
33 56.7 71.9 64.4 69.8 65.6 67.9
102.07.20 ?jﬂ 56.7 71.9 67 91.4 67.7 79.6
ik 7 T 7 TN T B T
3R 56.5 57.6 58.4 64.1 56.7 58.2
102.08.23 ?fl 63.1 76.6 62.5 77.1 63.7 76.3
R 54 55.7 42.3 44.7 57.5 64.6
102.09.02 ?fl 57.5 76.7 57.2 73.8 62.8 83
3R 57.2 58.7 55.9 61.4 57.2 65
102.10.25 ?fl 65.6 86.3 64.2 84.9 64 84.1
38 59.8 61.6 51.4 535 52.1 54.5
1021122 ?jﬂ 63.6 84.3 54.6 62 59.2 75.6
38 51.9 575 57.2 60.7 61.3 68.3
102.12.02 ?ju 61.3 79 62.3 80.5 64.8 86.3

;011102 87 5 p gk (Frclilk iy 98 90 4p o2 Tk F
B 25 0 Ty feekg F AR SR FE o
2102 # 8" 5p sz plER 245 102 # 8" 5p Fraca kB FEFRF T
% 1020065143 5513 & 3 # i 7321t o i3 1 F FIHEE P FREE(L S TR
4 7))z Leq 3 72dB(A) » Ly &% 5 100 dB(A) ©



